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B TR (A) N de LW THE(B) 03 (A) — (B) 1)/ (B)
% % %
1. 5 = # 3,231,084 0.1 2,993,926 0.1 237,158 107.9
2. & % 2 72,735,945 3.3 60,720,717 2.8 12,015,228 119.8
3. (£ fat # 251,415,480 11.5 244,150,346 11.5 7,265,134 103.0
4. IR 5 2 4,292,639 0.2 3,737,223 0.2 555,416 114.9
5. £SO B = 208,942,075 9.6 190,634,794 9.0 18,307,281 109.6
6. bR K BE 59,012,267 2.7 58,037,104 2.7 975,163 101.7
7. i T 2 244,866,636 11.2 281,708,621 13.2 A\ 36,841,985 86.9
8. [ I ¢ 132,058,764 6.0 139,089,098 6.5 A 7,030,334 94.9
9. % = 2 149,140,580 6.8 140,785,464 6.6 8,355,116 105.9
10. # = L ¢ 344,302,534 15.7 336,306,880 15.8 7,995,654 102.4
11. DI S ¢ 14,767,264 0.7 15,637,538 0.7 A\ 870,274 94.4
12. /N f& # 252,799,775 11.6 247,170,979 11.6 5,628,796 102.3
13. B x & 450,017,665 20.6 410,888,030 19.3 39,129,635 109.5
14. g fii # 200,000 0.0 200,000 0.0 0 100.0
= i 2,187,782,708 100.0 2,132,060,720 100.0 55,721,988 102.6




